| PROJECT:    | Country Villas Street Reconstruction |
|-------------|--------------------------------------|
| CLOSE DATE: | 8/27/2024 2:00PM                     |

| CONTRACTORS               | BID AMOUNT     |
|---------------------------|----------------|
| Camino Construction       | \$7,556,540.00 |
| Urban Infraconstruction   | \$8,013,365.00 |
| SYB Construction Co., Inc | \$8,414,135.00 |

|        |  |      |       |       |     |           | Camino Co           | onstruction    | Urban Infra        |
|--------|--|------|-------|-------|-----|-----------|---------------------|----------------|--------------------|
|        |  |      |       |       |     |           | Total Price         | \$7,556,540.00 | <b>Total Price</b> |
| Line # | Description                                    | Mfgr | Mfgno | QTY   | UOM | Estimated | Unit                | Extended       | Unit               |
| 1      | Mobilization                                   |      |       | 1     | LS  |           | \$300,000.00        | \$300,000.00   | \$370,000.00       |
| 2      | Videotape Project Area                         |      |       | 1     | LS  |           | <u>\$2,000.00</u>   | \$2,000.00     | <u>\$2,000.00</u>  |
| 3      | Erosion Control                                |      |       | 1     | LS  |           | \$30,000.00         | \$30,000.00    | \$50,000.00        |
| 4      | Trench Safety Design & Implementation          |      |       | 14000 | LF  |           | <u>\$1.00</u>       | \$14,000.00    | \$4.00             |
| 5      | Barricades and Traffic Control                 |      |       | 1     | LS  |           | \$100,000.00        | \$100,000.00   | <u>\$85,000.00</u> |
| 6      | Furnish/Install 8 in. HDPE DR-17 SS Pipe (Pip  | e    |       | 960   | LF  |           | <u>\$145.00</u>     | \$139,200.00   | \$160.00           |
| 7      | Furnish/Install 8 in.HDPE DR-17 SS Pipe by O   | F    |       | 10    | LF  |           | <u>\$140.00</u>     | \$1,400.00     | \$170.00           |
| 8      | Furnish/Install 6 in. PVC SDR-35 SS Pipe by C  | 1    |       | 20    | LF  |           | <u>\$90.00</u>      | \$1,800.00     | \$115.00           |
| 9      | Furnish/Install 8 in. PVC SDR-35 SS Pipe by C  | 1    |       | 2800  | LF  |           | \$120.00            | \$336,000.00   | <u>\$112.00</u>    |
| 10     | Furnish/Install 10 in. PVC SDR-35 SS Pipe by   | C    |       | 220   | LF  |           | \$145.00            | \$31,900.00    | <u>\$140.00</u>    |
| 11     | Furnish/Install 8 in.PVC SDR-26 SS Pipe by O   | ٥    |       | 1400  | LF  |           | \$130.00            | \$182,000.00   | <u>\$120.00</u>    |
| 12     | Furnish/Install 12 in. PVC SDR-26 SS Pipe by   | C    |       | 1600  | LF  |           | <u>\$148.00</u>     | \$236,800.00   | \$170.00           |
| 13     | Connect to Existing Sanitary Sewer Main        |      |       | 1     | EA  |           | \$1,500.00          | \$1,500.00     | <u>\$600.00</u>    |
| 14     | Connect to Existing Sanitary Sewer Manhole     |      |       | 1     | EA  |           | \$2,000.00          | \$2,000.00     | <u>\$1,435.00</u>  |
| 15     | Sanitary Sewer Point Repair on Pipe Burst Li   | ı    |       | 1     | EA  |           | <u>\$4,000.00</u>   | \$4,000.00     | \$6,000.00         |
| 16     | Abandon Ex. San. Sew Mainline Cleanout         |      |       | 7     | EA  |           | <u>\$500.00</u>     | \$3,500.00     | \$600.00           |
| 17     | Remove Ex. San Sew Mainline Cleanout           |      |       | 9     | EA  |           | \$500.00            | \$4,500.00     | <u>\$360.00</u>    |
| 18     | Construct Std San Sew Mainline Cleanout        |      |       | 16    | EA  |           | \$2,500.00          | \$40,000.00    | <u>\$1,800.00</u>  |
| 19     | Construct Std 5 ft. Dia SS Manhole             |      |       | 20    | EA  |           | <u>\$12,000.00</u>  | \$240,000.00   | \$15,000.00        |
| 20     | Construct Std 5 ft. Dia SS Drop Manhole        |      |       | 4     | EA  |           | <u>\$15,000.00</u>  | \$60,000.00    | \$15,980.00        |
| 21     | Remove Exist SSMH                              |      |       | 15    | EA  |           | \$1,000.00          | \$15,000.00    | <u>\$600.00</u>    |
| 22     | Abandon Exist SSMH                             |      |       | 5     | EA  |           | <u>\$500.00</u>     | \$2,500.00     | \$1,075.00         |
| 23     | 4-inch PVC SS Svc Connect w Cleanout           |      |       | 163   | EA  |           | <u>\$1,000.00</u>   | \$163,000.00   | \$1,500.00         |
| 24     | 4-inch Service Connection to HDPE Pipe         |      |       | 16    | EA  |           | <u>\$1,000.00</u>   | \$16,000.00    | \$1,440.00         |
| 25     | Furnish/Install 8 in. PVC Water Pipe           |      |       | 3950  | LF  |           | \$145.00            | \$572,750.00   | <u>\$110.00</u>    |
| 26     | Furnish/Install 6 in. PVC Water Pipe           |      |       | 4100  | LF  |           | \$98.00             | \$401,800.00   | <u>\$90.00</u>     |
| 27     | 8 in.X 8 in. Tapping Sleeve and 8 in. Gate Va  | I    |       | 3     | EA  |           | \$9 <i>,</i> 500.00 | \$28,500.00    | \$9,000.00         |
| 28     | 8 in.X 6 in. Tapping Sleeve and 6 in. Gate Val | ١    |       | 1     | EA  |           | \$8,500.00          | \$8,500.00     | \$7,700.00         |
| 29     | 8 in. Gate Valve                               |      |       | 14    | EA  |           | \$3 <i>,</i> 500.00 | \$49,000.00    | \$3,400.00         |
| 30     | 6 in. Gate Valve                               |      |       | 32    | EA  |           | \$3,200.00          | \$102,400.00   | \$2,500.00         |
| 31     | Connect to Existing Water Main                 |      |       | 1     | EA  |           | <u>\$1,500.00</u>   | \$1,500.00     | \$8,500.00         |
| 32     | Fire Hydrant w/ Appurtenances                  |      |       | 12    | EA  |           | \$5,500.00          | \$66,000.00    | \$7,200.00         |
| 33     | Remove & Salvage Exist Fire Hydrant            |      |       | 12    | EA  |           | <u>\$200.00</u>     | \$2,400.00     | \$3,600.00         |
| 34     | Cut & Plug Exist Water Main                    |      |       | 4     | EA  |           | <u>\$1,000.00</u>   | \$4,000.00     | \$3,000.00         |
| 35     | 1-inch Water Service (Long)                    |      |       | 81    | EA  |           | \$1,500.00          | \$121,500.00   |                    |

| 36 | 1-inch Water Service (Short)                     | 98    | EA | <u>\$1,200.00</u>  | \$117,600.00   | \$2,600.00        |
|----|--|-------|----|--------------------|----------------|-------------------|
| 37 | Abandon Ex. Water Valve                          | 41    | EA | <u>\$100.00</u>    | \$4,100.00     | \$600.00          |
| 38 | Additional Ductile Iron Fittings                 | 2     | TN | \$2,000.00         | \$4,000.00     | \$10,000.00       |
| 39 | Remove & Replace Water Meter Box                 | 179   | EA | <u>\$600.00</u>    | \$107,400.00   | \$785.00          |
| 40 | Temporary Asphalt Paving                         | 3400  | SY | <u>\$24.00</u>     | \$81,600.00    | \$32.00           |
| 41 | Remove and Dispose of Concrete Sidewalk          | 1200  | SY | \$13.50            | \$16,200.00    | \$17.00           |
| 42 | Rem. & Dispose of Conc. Pvmt., Drive & Alley     | 26000 | SY | \$22.50            | \$585,000.00   | <u>\$7.00</u>     |
| 43 | 8 in. Th. Recycled Crushed Concrete Flex Base    | 24200 | SY | \$24.00            | \$580,800.00   | <u>\$22.00</u>    |
| 44 | 6 in. Integral Concrete Curb                     | 10000 | LF | \$5.00             | \$50,000.00    | \$10.00           |
| 45 | 6 in. Reinf. Conc. Paving                        | 21400 | SY | <u>\$82.00</u>     | \$1,754,800.00 | \$85.00           |
| 46 | 8 in. Reinf. Conc. Paving                        | 800   | SY | <u>\$90.00</u>     | \$72,000.00    | \$115.00          |
| 47 | Construct Barrier Free Ramp at Intersection      | 17    | EA | <u>\$3,000.00</u>  | \$51,000.00    | <u>\$3,000.00</u> |
| 48 | Construct 4 in. Concrete Sidewalk                | 950   | SY | \$90.00            | \$85,500.00    | <u>\$75.00</u>    |
| 49 | Construct New 4 in. Concrete Sidewalk            | 80    | SY | \$90.00            | \$7,200.00     | <u>\$75.00</u>    |
| 50 | Construct Sidewalks for Walks with Retaining     | 380   | SY | \$108.00           | \$41,040.00    | \$95.00           |
| 51 | Construct Type B Retaining Wall                  | 1300  | SF | <u>\$30.00</u>     | \$39,000.00    | \$85.00           |
| 52 | Cultured Stone Fascia                            | 1300  | SF | \$28.00            | \$36,400.00    | \$60.00           |
| 53 | Install New Concrete Steps                       | 5     | EA | \$1,000.00         | \$5,000.00     | \$1,000.00        |
| 54 | 5 in. Reinf. Concrete Driveway                   | 3600  | SY | <u>\$90.00</u>     | \$324,000.00   | \$125.00          |
| 55 | 6 in. Wide White Perm. Pavement Markings         | 100   | LF | <u>\$20.00</u>     | \$2,000.00     | \$25.00           |
| 56 | Construct 6 in. Reinf. Conc Drainage Flume w     | 20    | SY | \$180.00           | \$3,600.00     | \$1,500.00        |
| 57 | Construct Galvanized Steel Plate Over Conc. I    | 2     | EA | \$2,000.00         | \$4,000.00     | <u>\$1,850.00</u> |
| 58 | Remove Existing Storm Sewer Inlet                | 16    | EA | <u>\$1,000.00</u>  | \$16,000.00    | \$3,000.00        |
| 59 | Construct Std 8 ft. Storm Inlet                  | 7     | EA | \$7,000.00         | \$49,000.00    | <u>\$6,000.00</u> |
| 60 | Construct Std 10 ft. Storm Inlet                 | 8     | EA | \$8,500.00         | \$68,000.00    | <u>\$7,500.00</u> |
| 61 | Construct Std 14 ft. Storm Inlet                 | 1     | EA | <u>\$11,000.00</u> | \$11,000.00    | \$11,800.00       |
| 62 | Remove & Replace Grate Inlet                     | 1     | EA | <u>\$9,000.00</u>  | \$9,000.00     | \$10,000.00       |
| 63 | Remove & Reset Wood Fence                        | 100   | LF | \$45.00            | \$4,500.00     | \$180.00          |
| 64 | Tree Root Barrier                                | 50    | LF | \$50.00            | \$2,500.00     | \$225.00          |
| 65 | Remove Tree (< 24-inch Diameter)                 | 8     | EA | \$800.00           | \$6,400.00     | <u>\$580.00</u>   |
| 66 | Remove Tree (>= 24-inch Diameter)                | 1     | EA | <u>\$1,500.00</u>  | \$1,500.00     | \$9,500.00        |
| 67 | Repair/Adjustment of Sprinkler Systems           | 1     | AL | <u>\$30,000.00</u> | \$30,000.00    | \$32,400.00       |
| 68 | 6-inch Subsurface Drainage Pipe                  | 50    | LF | <u>\$40.00</u>     | \$2,000.00     | \$150.00          |
| 69 | Furn. & Place Sod & 2 in. Topsoil for Dist. Area | 3700  | SY | <u>\$10.00</u>     | \$37,000.00    | \$12.00           |
| 70 | Ground Cover (Asian Jasmine)                     | 1300  | SY | \$25.00            | \$32,500.00    | <u>\$18.00</u>    |
| 71 | Reset Traffic or Street Sign                     | 31    | EA | <u>\$950.00</u>    | \$29,450.00    | \$1,500.00        |

| aconstruction   |                | SYB Construction Co., Inc |                     |  |
|-----------------|----------------|---------------------------|---------------------|--|
|                 | \$8,013,365.00 | Total Price               | \$8,414,135.00      |  |
| Line # Extended |                | Unit                      | Extended            |  |
| 1               | \$370,000.00   | \$200,000.00              | \$200,000.00        |  |
| 2               | \$2,000.00     | \$2,500.00                | \$2,500.00          |  |
| 3               | \$50,000.00    | <u>\$16,700.00</u>        | \$16,700.00         |  |
| 4               | \$56,000.00    | <u>\$1.00</u>             | \$14,000.00         |  |
| 5               | \$85,000.00    | <u>\$85,000.00</u>        | \$85,000.00         |  |
| 6               | \$153,600.00   | \$186.00                  | \$178,560.00        |  |
| 7               | \$1,700.00     | \$186.00                  | \$1,860.00          |  |
| 8               | \$2,300.00     | \$119.00                  | \$2 <i>,</i> 380.00 |  |
| 9               | \$313,600.00   | \$121.00                  | \$338,800.00        |  |
| 10              | \$30,800.00    | <u>\$140.00</u>           | \$30,800.00         |  |
| 11              | \$168,000.00   | \$135.00                  | \$189,000.00        |  |
| 12              | \$272,000.00   | \$217.00                  | \$347,200.00        |  |
| 13              | \$600.00       | \$1,000.00                | \$1,000.00          |  |
| 14              | \$1,435.00     | \$2,000.00                | \$2,000.00          |  |
| 15              | \$6,000.00     | \$5,000.00                | \$5,000.00          |  |
| 16              | \$4,200.00     | <u>\$500.00</u>           | \$3 <i>,</i> 500.00 |  |
| 17              | \$3,240.00     | \$500.00                  | \$4,500.00          |  |
| 18              | \$28,800.00    | \$2,100.00                | \$33,600.00         |  |
| 19              | \$300,000.00   | <u>\$12,000.00</u>        | \$240,000.00        |  |
| 20              | \$63,920.00    | \$16,850.00               | \$67,400.00         |  |
| 21              | \$9,000.00     | \$1,500.00                | \$22,500.00         |  |
| 22              | \$5,375.00     | \$2,000.00                | \$10,000.00         |  |
| 23              | \$244,500.00   | \$2,250.00                | \$366,750.00        |  |
| 24              | \$23,040.00    | \$3,000.00                | \$48,000.00         |  |
| 25              | \$434,500.00   | \$115.00                  | \$454,250.00        |  |
| 26              | \$369,000.00   | \$100.00                  | \$410,000.00        |  |
| 27              | \$27,000.00    | <u>\$8,950.00</u>         | \$26,850.00         |  |
| 28              | \$7,700.00     | <u>\$2,825.00</u>         | \$2,825.00          |  |
| 29              | \$47,600.00    | <u>\$3,000.00</u>         | \$42,000.00         |  |
| 30              | \$80,000.00    | <u>\$2,025.00</u>         | \$64,800.00         |  |
| 31              | \$8,500.00     | \$6,500.00                | \$6,500.00          |  |
| 32              | \$86,400.00    | \$8,000.00                | \$96,000.00         |  |
| 33              | \$43,200.00    | \$750.00                  | \$9,000.00          |  |
| 34              | \$12,000.00    | <u>\$1,000.00</u>         | \$4,000.00          |  |
| 35              | \$194,400.00   | \$2,600.00                | \$210,600.00        |  |
|                 |                |                           |                     |  |

| 36 | \$254,800.00          | \$2,000.00         | \$196,000.00   |
|----|-----------------------|--------------------|----------------|
| 37 | \$24,600.00           | \$500.00           | \$20,500.00    |
| 38 | \$20,000.00           | <u>\$100.00</u>    | \$200.00       |
| 39 | \$140,515.00          | \$800.00           | \$143,200.00   |
| 40 | \$108,800.00          | \$41.25            | \$140,250.00   |
| 41 | \$20,400.00           | <u>\$12.00</u>     | \$14,400.00    |
| 42 | \$182,000.00          | \$14.00            | \$364,000.00   |
| 43 | \$532 <i>,</i> 400.00 | \$40.00            | \$968,000.00   |
| 44 | \$100,000.00          | <u>\$3.00</u>      | \$30,000.00    |
| 45 | \$1,819,000.00        | \$85.00            | \$1,819,000.00 |
| 46 | \$92,000.00           | \$92.00            | \$73,600.00    |
| 47 | \$51,000.00           | \$3,200.00         | \$54,400.00    |
| 48 | \$71,250.00           | <u>\$75.00</u>     | \$71,250.00    |
| 49 | \$6,000.00            | <u>\$75.00</u>     | \$6,000.00     |
| 50 | \$36,100.00           | <u>\$85.00</u>     | \$32,300.00    |
| 51 | \$110,500.00          | \$100.00           | \$130,000.00   |
| 52 | \$78,000.00           | <u>\$25.00</u>     | \$32,500.00    |
| 53 | \$5 <i>,</i> 000.00   | <u>\$500.00</u>    | \$2,500.00     |
| 54 | \$450,000.00          | \$115.00           | \$414,000.00   |
| 55 | \$2 <i>,</i> 500.00   | \$26.85            | \$2,685.00     |
| 56 | \$30,000.00           | <u>\$125.00</u>    | \$2,500.00     |
| 57 | \$3 <i>,</i> 700.00   | \$4,000.00         | \$8,000.00     |
| 58 | \$48,000.00           | <u>\$1,000.00</u>  | \$16,000.00    |
| 59 | \$42,000.00           | \$6,500.00         | \$45,500.00    |
| 60 | \$60,000.00           | <u>\$7,500.00</u>  | \$60,000.00    |
| 61 | \$11,800.00           | \$12,000.00        | \$12,000.00    |
| 62 | \$10,000.00           | \$10,000.00        | \$10,000.00    |
| 63 | \$18,000.00           | <u>\$20.00</u>     | \$2,000.00     |
| 64 | \$11,250.00           | <u>\$25.00</u>     | \$1,250.00     |
| 65 | \$4,640.00            | \$2,500.00         | \$20,000.00    |
| 66 | \$9 <i>,</i> 500.00   | \$10,000.00        | \$10,000.00    |
| 67 | \$32,400.00           | <u>\$30,000.00</u> | \$30,000.00    |
| 68 | \$7,500.00            | \$150.00           | \$7,500.00     |
| 69 | \$44,400.00           | \$20.00            | \$74,000.00    |
| 70 | \$23,400.00           | \$25.00            | \$32,500.00    |
| 71 | \$46,500.00           | \$975.00           | \$30,225.00    |

| Line | Responding Supplier | Supplier Notes |
|------|---------------------|----------------|
|      |                     |                |

| Line # | Att # | Attribute Name              | Attribute Note                | Camino Constructi Urban Infraconstru | SYB Construction Co. |
|--------|-------|-----------------------------|-------------------------------|--------------------------------------|----------------------|
| Header | 1     | General Terms and Condi     | The City of Carrollton's Ge   |                                      | I have read, unders  |
| Header | 2     | Attachments                 | Located on the "Attachme      |                                      |                      |
| Header | 3     | Attributes                  | There are attributes, like    |                                      |                      |
| Header | 4     | Information to Bidders      | INFORMATION TO BIDDE          |                                      |                      |
| Header | 5     | Submission Response         | The City of Carrollton pret   |                                      |                      |
| Header | 6     | Right to Reject             | Until the final award by the  |                                      | I have read, unders  |
| Header | 7     | Communications Stateme      | All communication shall g     |                                      |                      |
| Header | 8     | Disqualification            | The City may reject outrig    |                                      | I have read, unders  |
| Header | 9     | Electronic Signatures       | The City of Carrollton has    |                                      | I have read, unders  |
| Header | 10    | Conflict of Interest Quest  | iThis questionnaire reflect   |                                      | No                   |
| Header | 11    | Name & Relationships        | Do you or any employee i      |                                      | No                   |
| Header | 12    | Non-Discrimination          | The proposer shall not dis    |                                      | I have read, unders  |
| Header | 13    | Submission Requirements     | SUBMISSION REQUIREME          |                                      |                      |
| Header | 14    | Submission Instructions     | Accessing the Bid Docume      |                                      | I have read, unders  |
| Header | 15    | Award Process               | AWARD PROCESS                 |                                      |                      |
| Header | 16    | Acknowledgement             | The below information re      |                                      | I have read, unders  |
| Header | 17    | Sealed Bid - Lowest Respo   | Lowest responsive, responsive |                                      | I have read, unders  |
| Header | 18    | Insurance Requirements      | INSURANCE REQUIREMEN          |                                      |                      |
| Header | 19    | Insurance Requirements      | Bidder here acknowledge       |                                      | I have read, unders  |
| Header | 20    | Cancellation of Insurance   | Cancellation Policy must r    |                                      | I have read, unders  |
| Header | 21    | Prohibition Acknowledge     | PROHIBITION ACKNOWLE          |                                      |                      |
| Header | 22    | Senate Bill 252             | I certify that my company     |                                      | I have read, unders  |
| Header | 23    | No Israel Boycott Certifica | Effective September 1, 20     |                                      | I have read, unders  |
| Header | 24    | No Excluded Nation or Fo    | Effective September 1, 20     |                                      | I have read, unders  |
| Header | 25    | Abortion Prohibition        | Texas Government Code         |                                      | I have read, unders  |
| Header | 26    | Firearm And Ammunition      | Pursuant to Texas Govern      |                                      | I have read, unders  |
| Header | 27    | Energy Company Boycott      | Pursuant to Texas Govern      |                                      | I have read, unders  |
| Header | 28    | Collective Bargaining Prov  | Texas Government Code         |                                      | I have read, unders  |
| Header | 29    | Communication Prohibiti     | All questions concerning t    |                                      | I have read, unders  |
| Header | 30    | Applicable Law              | APPLICABLE LAW                |                                      |                      |
| Header | 31    | Applicable Law              | The Contract is entered in    |                                      | I have read, unders  |
| Header | 32    | Construction Items          | CONSTRUCTION ITEMS            |                                      |                      |
| Header | 33    | Bid Bond                    | All responders must subm      |                                      | I have read, unders  |
| Header | 34    | Payment, Maintenance, a     | Payment, Maintenance, a       |                                      | I have read, unders  |
| Header | 35    | Freight                     | All prices are to be F.O.B.   |                                      | I have read, unders  |
| Header | 36    | Tax Exempt                  | The City of Carrollton is ta  |                                      | I have read, unders  |
| Header | 37    | Controlling Law & Venue     | •                             |                                      |                      |

| Header | 38 | Controlling Law & Venue    | The parties to this contra   | I have read, unders |
|--------|----|----------------------------|------------------------------|---------------------|
| Header | 39 | Open Records Policy        | OPEN RECORDS POLICY          |                     |
| Header | 40 | Open Records Policy        | City of Carrollton is a gove | I have read, unders |
| Header | 41 | Vendor Information         | VENDOR INFORMATION           |                     |
| Header | 42 | Bid Responder's Name       |                              | BRIAN WOOD          |
| Header | 43 | Bid Responder's Title      |                              | VICE-PRESIDENT      |
| Header | 44 | Mailing Address (street, c |                              | 421 COMPTON AVE     |
| Header | 45 | Phone Number               |                              | (972) 399-1066      |
| Header | 46 | Email Address              |                              | SANDY@SYBCONST      |
| Header | 47 | Company Website URL        |                              | HTTP://WWW.SYBC     |
| Header | 48 | Payable Contact Informat   | CONTACT INFORMATION          |                     |
| Header | 49 | Payable Contact Name       |                              | GEANA BRANN         |
| Header | 50 | Payables Address (street,  |                              | 421 COMPTON AVE     |
| Header | 51 | Payable Phone              |                              | (972) 399-1066 x32  |
| Header | 52 | Payable Fax Number         |                              | (972) 399-1586      |
| Header | 53 | Payable Email Address      |                              | AP@SYBCONSTRUC      |
| Header | 54 | HUB Vendor Status          | HUB Vendors (Historically    | No                  |
| Header | 55 | HUB Vendor Status, pt. 2   | If indicated "yes" in the at |                     |
| Header | 56 | References                 | REFERENCES Please provi      |                     |
| Header | 57 | Reference 1                | REFERENCE 1                  |                     |
| Header | 58 | Reference Contact Persor   |                              | LINDY HIGGINBOTH    |
| Header | 59 | Reference Contact Person   |                              | CITY OF ALLEN       |
| Header | 60 | Reference Address: Stree   |                              | 305 CENTURY PARK    |
| Header | 61 | Reference Phone Numbe      |                              | (214) 912-8112      |
| Header | 62 | Reference Email            |                              | Lindy_Higginbothar  |
| Header | 63 | Reference Description of   | Describe the services perf   | HILLSIDE VILLAGE V  |
| Header | 64 | Reference 2                | REFERENCE 2                  |                     |
| Header | 65 | Reference Contact Person   |                              | DAVID SPRINGOB      |
| Header | 66 | Reference Contact Persor   |                              | CITY OF IRVING      |
| Header | 67 | Reference Address: Stree   |                              | 825 W. IRVING BLV   |
| Header | 68 | Reference Phone Numbe      |                              | (972) 721-2784      |
| Header | 69 | Reference Email            |                              | dspringob@cityofir  |
| Header | 70 | Reference Description of   | Describe the services perf   | PROMENAGE COUF      |
| Header | 71 | Reference 3                | REFERENCE 3                  |                     |
| Header | 72 | Reference Contact Persor   |                              | KATIE BARRON        |
| Header | 73 | Reference Contact Person   |                              | CITY OF UNIVERSIT   |
| Header | 74 | Reference Address: Stree   |                              | 3800 University Blv |
| Header | 75 | Reference Phone Numbe      |                              | (214) 987-5401      |
| Header | 76 | Reference Email            |                              | kbarron@uptexas.c   |

ENG 2024-002 Addendum 1 - Page 9

| Responding Supplier       | Signature Full Name     | Signature Email           | Supplier Notes |
|---------------------------|-------------------------|---------------------------|----------------|
| Camino Construction       | Camino Construction, LF | )                         |                |
| Urban Infraconstruction   | Urban Infraconstruction |                           |                |
| SYB Construction Co., Inc | BRIAN WOOD              | SANDY@SYBCONSTRUCTION.COM |                |